Ve Velké Britanii
a v nékterych
dalSich zemich se
pii zapisu cisel
uziva misto
desetinné carky
desetinna tecka.
Zkus zjistit, kde
se v anglickych
zapisech cisel
uziva carka.

ANGLICTINA V MATEMATICE

natural number

pfirozené cislo

decimal number
desetinné cislo

two point five
dvé celé pét

number
Cislo

digit
Cislice

number scale/axis
Ciselnd osa

rational number
racionalni ¢islo

2 fraction
—_— zlomek
numerator
7 Citatel
e~ fraction line
zlomkovd cara
denominator
jmenovatel

Operations (operace)

R

plus, is equal to (equals)
1" ﬂ") (o) 59N a’)
| 4 -~ — J LT )
minus divided by

number
Cislo

-12.5

21.48

positive number
kladné cislo

natural pfirozend N
1, 2, 3, 26, 155

whole celd Z
-15,-2,0, 1, 35

rational racionalni Q

3 321
-161, ~2' 56 -0.5, 697

-40.84

1"
| 4

times (multiplied)

opposite number
opacné cislo

negative number
zaporné cislo

98



ANGLICTINA V MATEMATICE

Cteme zlomky

% al/one third % two fifths % a half % quarter ? twenty-one seventh

prime number prvocislo composite number sloZené Cislo
odd number liché ¢islo even number sudé Cislo

Pocitame nahlas anglicky

3.385 three point three eight five

6 +9 =15 six plus nine equals (or is) fifteen

12 -7 =5 twelve minus seven equals (or is) five

5.6 =30 five times six equals thirty, five multiplied by six is thirty
32:8=4 thirty-two divided by eight is four

Cviceni

Example 1
Write five
a) natural numbers,
b) whole numbers,
¢) rational numbers.

Example 2
Write a fraction with
a) numerator 10, 80, 3, 6;
b) denominator 12, 6, 17, 1;
¢) numerator 25 and denominator 17.

Example 3
How much is five plus two hundred and sixty-eight?

Example 4
Read and count.
4 2
b) 1.6 — 0.8 =
c¢)255:3 =
d)13-108 =
4 2
e) 7 : E =

99






